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1. If the statement no philosopher are industrialists
is given as time which of the following statement
can be immediately inferred from it to be true
(A) No philosophers are rich persons
(B) All industrialist are philosophers
(C) Some philosophers are industrialist
(D) Some philosophers are not industrialist

2. Assertion A: Deductive arguments are either
invalid or valid.
Reason R: All detective arguments claim that if the
premise are true then the conclusion must be true
(A) both A and R are correct and R is the correct

explanation of A
(B) both A and R are correct and R is not the

correct explanation of A
(C) A is correct but R is not correct
(D) A is not correct but R is correct

3. In the submission of thesis, if a student is found to
commit plagiarism of Level 3 as Per UGC
Regulations 2018 Plagiarism, the following
Penalty will be imposed-
(A) Student shall be debarred from submitting

the revised thesis for a Period of one year.
(B) Student’s registration for that programme

shall be cancelled.
(C) Student shall be debarred from submitting

the revised thesis for 6 Months.
(D) Students shall be asked to submit the

revised thesis within 6 months.
4. Identify the features of qualitative research, from

the following.
(i) Researcher becomes immersed in the

situation present or Past
(ii) Researcher is detached from the Study to

avoid bias
(iii) It develops context-bound generalizations
(iv)  It is based on logical Positivist Philosophy
(v) It used an emergent research design.

1- ;fn dFku dksbZ Hkh nk'kZfud m|ksxifr ugha gS dks lR;
ekuk tkrk gS rks fuEufyf[kr esa ls dkSu lk dFku rqjar
lR; gksus dk vuqeku yxk;k tk ldrk gS\
¼A½ dksbZ Hkh nk'kZfud vehj O;fä ugha gS
¼B½ lHkh m|ksxifr nk'kZfud gS
¼C½ dqN nk'kZfud m|ksxifr gS
¼D½ dqN nk'kZfud m|ksxifr ugha gS

2- vfHkdFku A: fuxeukRed ;qfä;k¡ ;k rks voS/k gksrh gS ;k
oS/k gksrh gS
dkj.k R: lHkh fuxeukRed ;qfä;k¡ ;g nkok djrh gS fd
;fn vk/kkj okD; lR; gksrs gSa rks fu"d"kZ Hkh lR; gksuk pkfg,
¼A½ A vkSj R nksuksa lgh gS vkSj R] A dh lgh O;k[;k gS
¼B½ A vkSj R nksuksa lgh gS vkSj R] A dk lgh Li"Vhdj.k

ugha gS
¼C½ A lgh gS ysfdu R lgh ugha gS
¼D½ A lgh ugha gS ysfdu R lgh gS

3- Fkhfll tek djus esa] ;fn dksbZ Nk= lkfgfR;d pksjh ij
;wthlh fofu;eu 2018 ds vuqlkj ysoy 3 dh lkfgfR;d
pksjh djrk ik;k tkrk gS] rks fuEufyf[kr tqekZuk yxk;k
tk,xk
¼A½ Nk= dks 1 o"kZ dh vof/k ds fy, la'kksf/kr Fkhfll

tek djus ls jksd fn;k tk,xk
¼B½ bl dk;ZØe ds fy, Nk= dk iathdj.k jí dj fn;k

tk,xk
¼C½ Nk= dks 6 eghus ds fy, la'kksf/kr Fkhfll tek djus

ls jksd fn;k tk,xk
¼D½ Nk= dks 6 eghus ds Hkhrj la'kksf/kr Fkhfll tek

djus ds fy, dgk tk,xk
4- fuEufyf[kr esa ls xq.kkRed 'kks/k ds y{k.kksa dh igpku

dhft,%
¼i½ 'kks/kdrkZ orZeku vFkok foxr dh fLFkfr;ksa ls fuexz

jgrk gS
¼ii½ 'kks/kdrkZ v/;;u ls vlayXu jgrk gS rkfd og

iwokZxzg ls cp lds
¼iii½ lanHkZ&;qä lkekU;hdj.k fodflr djrk gS
¼iv½ ;g rkfdZd çR;{k oknh n'kZu ij vk/kkfjr gS
¼v½ ;g ,d fodkl'khy 'kks/k vfHkdYi dk vuqç;ksx

djrk gS

Paper I – Research Methodology
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uhps fn, x, fodYiksa esa ls lgh mÙkj dks pqfu,
¼A½ ¼i½] ¼ii½ vkSj ¼iii½ dsoy
¼B½ ¼ii½] ¼iii½ vkSj ¼iv½ dsoy
¼C½ ¼i½] ¼iii½ vkSj ¼v½ dsoy
¼D½ ¼iii½] ¼iv½ vkSj ¼v½ dsoy

5- fuEufyf[kr esa ls dkSu lh fof/k fdlh fLFkfr] ?kVuk ;k
fdlh leL;k dh fo'ks"krkvksa dk o.kZu djus ds fy,
vk;ksftr dh tkrh gS
¼A½ o.kZukRed vuqla/kku
¼B½ ,sfrgkfld vuqla/kku
¼C½ ç;ksfxd vuqla/kku
¼D½ xq.kkRed vuqla/kku

6- fleju ,d 'kks/k i= fy[krs le; ,d lzksr ls dqN
iafä;ksa dh çfrfyfi cukrh gS vkSj mUgsa vius i= esa vr%
LFkkfir djrh gSA fuEufyf[kr esa ls dkSu lh lkfgfR;d
pksjh fleju ds ÑR; dk o.kZu djrh gS
¼A½ Lo&lkfgfR;d pksjh
¼B½ ekstsd lkfgfR;d pksjh
¼C½ iwoZ lkfgfR;d pksjh
¼D½ lzksr vk/kkfjr lkfgfR;d pksjh

7- QqV uksV~l vkSj ,aMuksV~l esa ç;qä fuEufyf[kr esa ls fdl
laf{kIr v{kj dk vFkZ m)`r dk;Z gS
¼A½  et.al
¼B½  loc.cit
¼C½  ibid
¼D½  op.cit

8- ,d 'kks/k v/;;u esa og pj tks çR;{k :i ls ns[kus ;ksX;
ugha gS ysfdu ftldk çHkko vkfØV pj ij vuqekfur
gksrk gS] mls dgk tkrk gS
¼A½ ckg; pj
¼B½ ekWMjsVj pj
¼C½ gLr{ksi pj
¼D½ mipkj pj

9- ,d egkfo|ky; ds çkpk;Z }kjk tutkrh; fo|kfFkZ;ksa
}kjk lkeuk dh tk jgh leL;kvksa dks u`tkfrd tk¡p djokbZ
xbZA çfrp;u dh dkSu lh fof/k lokZf/kd mi;qZä gksxh
¼A½ ;kn`fPNd çfrp;u
¼B½ Lrfjr çfrp;u
¼C½ xqPN çfrp;u
¼D½ O;ofLFkr çfrp;u

Choose the Correct answer from the options
given below.
(A) (i), (ii) and (iii) only
(B) (ii), (iii) and (iv) only
(C) (i), (iii) and (v) only
(D) (iii), (iv) and (v) only

5. which among the following mothed is conducted
to describe the characteristics of a situation,
phenomenon, or a problem?
(A) Descriptive Research
(B) Historical Research,
(C) Experimental Research
(D) Qualitative Research

6. Simran while writing a research Paper, copies a
few lines from a source and interlays them in
her paper. Which of the following describes
Simran's Act?
(A) Auto Plagiarism
(B) Mosaic Plagiarism
(C) Complete Plagiarism
(D) Source -Based Plagiarism

7. Which of the following abbreviations used in
footnotes and endnotes means ‘the work cited'?
(A) et.al
(B) loc.cit.
(C) ibid
(D) op.cit

8. In a research study the variable which is not
directly observable but whose effect is inferred
on the dependent variable is termed as:
(A) Extraneous Variable
(B) Moderator variable
(C) Intervening Variable
(D) Treatment variable

9. A collage Principal conducts an ethnographic probe
into the problem faced by tribal students. Which
method of sampling would be most appropriate?
(A) Random Sampling
(B) Cluster Sampling
(C) Stratified sampling
(D) Systematic Sampling
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10- fuEufyf[kr 'kCnksa ds lewg dks ?kVrs vk'k; ds Øe esa
O;ofLFkr djsa
¼i½ Lru/kkjh
¼ii½ okbYM dSV
¼iii½ fcYyh ds leku
¼iv½ i'kq
¼v½ d'ks#d
¼A½ ¼ii½] ¼iii½] ¼i½] ¼v½] ¼iv½
¼B½ ¼iv½] ¼v½] ¼i½] ¼iii½] ¼ii½
¼C½ ¼iii½] ¼ii½] ¼v½] ¼i½] ¼iv½
¼D½ ¼iv½] ¼i½] ¼v½] ¼ii½] ¼iii½

11- fØ;kRed 'kks/k &
¼A½ v/kkseq[kh vuqla/kku
¼B½ fdlh rkRdkfyd leL;k ds lek/kku dk ç;kl
¼C½ lkekftd vkfFkZd mís';ksa lfgr vuqla/kku
¼D½ O;kogkfjd vuqla/kku

12- losZ{k.k vuqla/kku v/;;u
¼A½ ?kVuk ¼B½ çfØ;k
¼C½ tula[;k ¼D½ ifjfLFkfr;k¡

13- fuEufyf[kr esa ls dkSu lk MsVk dk f}rh;d lzksr gS
¼A½ vfHkys[kh; MsVk
¼B½ çfrHkkfx;ksa dh Mk;jh
¼C½ jk"Vªh; uewuk losZ{k.k laxBu MsVk
¼D½ ekSf[kd vk[;ku

14- fuEufyf[kr esa ls Ldksil D;k gS
¼A½  if=dk ¼B½  m)j.k
¼C½  MsVkcsl ¼D½  fØ;kfof/k

15- 'kks/k lkfgR; dh ,d vPNh leh{kk dk mís'; gS
¼A½ lkexzh dk fo"k;ijd fo'ys"k.k
¼B½ ys[kdksa vkSj muds lac)rk ds ckjs esa tkudkjh çnku

djuk
¼C½ 'kks/k ç'u mRiUu djuk vkSj mu ç'uksa dks ekU;

djuk
¼D½ dbZ dk;Z vk/kkfjr LØhfuax vk;ksftr djrk gSA

16- Nk=ksa ds ckSf)d Lrj dh tkap gsrq mfpr e/; gS
¼A½ xq.kksÙkj ek/; ¼B½ lekUrj ek/;
¼C½ ekf/;dk ¼D½ cgqyd

10. Arrange the following group of terms in order to
decreasing intension
(i) Mammal
(ii) Wildcat
(iii) Feline
(iv) Animal
(v) Vertebrate
(A)   (ii), (iii), (i), (v), (iv)
(B) (iv), (v), (i), (iii), (ii)
(C) (iii), (ii), (v), (i), (iv)
(D) (iv), (i), (v), (ii), (iii)

11. Action Research means-
(A) A Longitudinal Research
(B) A search initiated to solve an immediate

problem.
(C) Web research using socioeconomic objective
(D) An Applied Research

12. Survey research studies
(A) Event (B) Process
(C) Population (D) Circumstances

13. Which among the following is a secondary
source of Data?
(A) Archival Date
(B) Participant’s Diary
(C) National sample survey organization Data
(D) Oral narratives

14. Which among the following is Scopus?
(A) Journal (B) Citation
(C) Database (D) Methodology

15. A good review of the research literature aims at:
(A) Subjective analysis of the content
(B) Providing information about the author and

their affiliation
(C) Generating research question and

validating these questions
(D) Conduct multiple task-based screening

16. A suitable average for testing the intelligence of
students is:
(A) Geometric mean (B) Arithmetic mean
(C) Median (D) Mode
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17- fuEufyf[kr esa ls dkSu lk lkekftd foKku vuqla/kku esa
MsVk laxzg dh ,d fof/k ugha gS
¼A½ ç'ukoyh ¼B½ losZ
¼C½ vuqlwph ¼D½ lk{kkRdkj

18- vuqla/kku esa dkSu lk pj.k lwpuk dh Js.kh dks fufnZ"V vkSj
O;ofLFkr djds 'kks/k i= ds fy, ,d dk;Zdkjh Fkhfll
cukrk gS
¼A½ vuqla/kku fMtkbu
¼B½ ,d ifjdYiuk dk fodkl djuk
¼C½ lkfgR; dh leh{krk
¼D½ MsVk dk fo'ys"k.k

19- cgqyd dh x.kuk esa oxkaZrj
¼A½ leku gksus pkfg,
¼B½ vleku gksus pkfg,
¼C½ lekos'kh gksus pkfg,
¼D½ mi;qZä lHkh

20- fuEufyf[kr esa ls dkSu Lora= vkSj fuHkZj pj ds chp dkj.k
vkSj çHkko laca/k dk lcls etcwr lk{; çnku djrk gS
¼A½ o.kZukRed lkaf[;dh
¼B½ lg&lEcU/k n`f"Vdks.k
¼C½ xSj&ç;ksxkRed n`f"Vdks.k
¼D½ çk;ksfxd n`f"Vdks.k

21- xzaFk lwph dk vFkZ gS
¼A½ QqVuksV
¼B½ dksVs'ku
¼C½ thouh
¼D½ lanfHkZr iqLrdksa] 'kks/k i=ksa] vkfn dh lwph

22- fjlpZ fMtkbu D;k gS
¼A½ vuqla/kku djus dk rjhdk tks fl)kar ij vk/kkfjr

ugha gS
¼B½ xq.kkRed ;k ek=kRed rjhdksa dk mi;ksx djus ds

chp p;u
¼C½ og 'kSyh ftlesa vki vius 'kks/k fu"d"kZ çLrqr djrs

gSaA mnkgj.kkFkZ ,d xzkQ
¼D½ MkVk ds laxzg vkSj fo'ys"k.k dh gj pj.k ds fy,

,d :ijs[kk
23- fdlh 'kks/k nLrkost esa lekurk dh tkap ds fy, fuEufyf[kr

esa ls fdldk mi;ksx ugha fd;k tk ldrk gS
¼A½ VfuZfVu ¼B½ mjdq.M
¼C½ vkbFksafVdsV ¼D½ tksVsjks

17. Which of the following in not a method of data
collection in social science research?
(A) Questionnaire (B) Survey
(C) Schedule (D) Interview

18. Which stage is research creates a working thesis
for the research paper by specifying and
organising the category of information?
(A) Research Design
(B) Developing a hypothesis
(C) Reivew of the literature
(D) Analysis of data

19. The class difference in the calculation of the Mode-
(A) should be equal
(B) should be unequal
(C) should be inclusive
(D) suitable all

20. Which of the following provided the strongest
evidence of cause-and-effect relationship
between independent and dependent variables?
(A) Descriptive statistics
(B) co-relational approaches
(C) non-experimental approaches
(D) experimental approaches

21. Bibliography means-
(A) Footnotes
(B) Quotations
(C) Biography
(D) vit of referred books research paper, etc.

22. What is a research design?
(A) A way conducting research that is not

grounded in theory
(B) The choice between using qualitative or

quantitative methods
(C) The style in which you present your

research finding e.g. a graph
(D) A framework for every stage of the

collection and analysis of data

23. Which of the following can not be used for
checking similarly in a research document?
(A) Turnitin (B) Urkund
(C) Ithenticate (D) Zotero
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24- 'kks/k çLrko rS;kj djus dh çfØ;k esa fuEu esa ls fdldh
vko';drk gksrh gS
¼A½ ifj.kke dk mYys[k
¼B½ vuqla/kku dh ;kstuk
¼C½ uhfr&fuekZrk ds fy, laLrqfr;k¡
¼D½ fo'ks"kKksa dh jk; tkuuk

25- fdlh lEesyu esa çdk'ku ;k çLrqfr ds fy, vU; fo'ks"kKksa
}kjk ewY;kadu fd, x, 'kks/k i= dks ekuk tkrk gSA
¼A½ lgdehZ leh{kk ¼B½ lkoZtfud leh{kk
¼C½ futh leh{kk ¼D½ vuqla/kku leh{kk

26- fuEufyf[kr esa ls D;k lqikfjHkkf"kr 'kks/k leL;k dh fo'ks"krk
gSA
¼A½ ;g O;kid vkSj vLi"V gS
¼B½ bldk ,d gh lek/kku gS
¼C½ ;g fof'k"V vkSj Li"V gS
¼D½ bl ij 'kks/k ugha fd;k tk ldrk

27- lkaf[;dh esa ekud fopyu dk mís'; D;k gS
¼A½ MsVk ds çlkj dks ekius ds fy,
¼B½ dsaæh; ço`fÙk dh igpku djuk
¼C½ ek/; dh x.kuk djus ds fy,
¼D½ eksM fu/kkZfjr djus ds fy,

28- vuqla/kku esa vkpkj&uSfrdrk dk D;k mís'; gS\
¼A½ fof'k"V vuqla/kku fof/k;ksa dks funsZf'kr djuk
¼B½ lkoZHkkSfed uSfrd ekud LFkkfir djuk
¼C½ 'kks/k ç'uksa dh nk;js dks lhfer djuk
¼D½ 'kks/kdrkZvksa ds chp çfrLi/kkZ dks c<+kok nsuk

29- fuEufyf[kr rdZ esa dkSu lh Hkzkafr dh xbZ gS
Þtc eSaus rqEgsa Qksu fd;k] rks rqe uk rks viuh d{kk
esa Fks vkSj uk gh ç;ksx'kkyk esa A rqe eq>ls D;ksa cp
jgs gks\ß
¼A½ ifji= rdZ ¼B½ jsM gsfjax
¼C½ tfVy ç'u ¼D½ fQlyu <yku

30- Þ;fn ,d cM+s ghjs dks NksVs&NksVs VqdM+ksa esa dkV fn;k tk,] rks
mldk ewY; [kks tk,xk] tSls ,d lsuk dks lSfudksa dh NksVh&NksVh
VqdfM+;ksa esa foHkkftr dj fn;k tk,] rks og viuh rkdr [kkss
nsrh gS AÞ Åij fn, x, rdZ dks dgk tk ldrk gS A
¼A½ vuq:i ¼B½ fuxeukRed
¼C½ lkaf[;dh ¼D½ dkj.k

24 In the process of developing a research proposal,
which one of the following is required
(A) give the findings
(B) Plan of investigation
(C) Recommendation to the policy makes
(D) Seek experts’ opinion

25. A research paper evaluated by other experts
either for publication or presentation at a
conference is considered to have undergone:
(A) Peer review (B) Public review
(C) Private review (D) Research review

26. Which of the following is a characteristic of a
well-defined research problem?
(A) It is broad and vague
(B) It has a single solution
(C) It is specific and clear
(D) It cannot be researched

27. What Is the purpose of standard deviation in
statistics?
(A) to measure the spread of data
(B) to identify the central frequency
(C) to calculate the mean
(D) to determine the mode

28. What is the purpose of code of ethics in research?
(A) to dictate specific research methods
(B) to establish the universal ethics standards
(C) to limit the scope of research questions
(D) to promote competition among researchers

29. Which fallacy is committed in the following
arguments?
“When I called you, you were neither in your class
nor in the laboratory. Why are you avoiding me?”
(A) circular arguments (B) red hearing
(C) complex question (D) slippery slope

30. If a large diamond is cut up into little bits, it will
lose its value just ad an array is divided up into
small units of soldiers, its losses its strength.”
The arguments put above may be called as-
(A) analogical (B) deductive
(C) statistical (D) causal
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31. Which of the following arguments is an example of
the fallacy of a sadharna (Narrow middle term)
Accordingly to Nyaya (Classical Indian School
of  logic)?
(A) Sound is non-eternal because it is produced
(B) Sound is eternal because it is audible
(C) Sound is eternal because it is produced
(D) Sound is quality because it is visible

32. Which one of the following is applicable in
inductive logic in social research
(A) Theory, hypothesis, Pattern, Observation,

confirmation
(B) hypothesis, Observation, confirmation,

Theory
(C) Pattern, Observation, hypothesis,

confirmation, Theory
(D) Observation, Pattern, Tentative,

hypothesis, Theory
33. Identify the correct sequence of the following in

a research paper-
(i) Research methodology
(ii) Title
(iii) Literature review
(iv) Data Analysis
(v) Introduction
(A) (i), (ii), (iii), (iv), (v)
(B) (ii), (v), (iii), (i), (iv)
(C) (ii), (iii), (iv), (v), (i)
(D)  (v), (i), (iii), (iv), (ii)

34. A researcher has administered some during for
management of diabetes for 4 weeks in a group and
measured pre and post data for blood glucose level.
Which statistical tool will be used to analyse data?
(A) paired ‘t’ test
(B) independent ‘t’ test
(C) ANOVA test
(D) chi-square test

35. In order to begin research, one must:
(A) start with a number of clear goals
(B) start with a number of predefined objectives
(C) have a well-defined research method
(D) solve the research problem

31- fuEufyf[kr esa ls dkSu lk rdZ U;k; ¼rdZ dk 'kkL=h;
Hkkjrh; Ldwy½ ds vuqlkj ,d lk/kuk ¼ladh.kZ e/;
vofèk½ dh Hkzkafr dk mnkgj.k gS
¼A½ /ofu vfuR; gS D;ksafd ;g mRiUu gksrh gS
¼B½ /ofu 'kk'or gS D;ksafd ;g JO; gS
¼C½ /ofu 'kk'or gS D;ksafd ;g mRiUu gksrh gS
¼D½ /ofu xq.koÙkk gS D;ksafd ;g n`';eku gS

32- fuEufyf[kr esa ls dkSu lk lkekftd vuqla/kku esa
vkxeukRed rdZ esa ykxw gksrk gS
¼A½ fl)kar] ifjdYiuk] iSVuZ] voyksdu] iqf"V
¼B½ ifjdYiuk] voyksdu] iqf"V] fl)kar
¼C½ iSVuZ] voyksdu] ifjdYiuk] iqf"V] fl)kar
¼D½ voyksdu] iSVuZ] vLFkkbZ ifjdYiuk] fl)kar

33- ,d 'kks/k i= esa fuEufyf[kr dk lgh Øe igpkusa
¼i½ vuqla/kku fØ;k fof/k
¼ii½ 'kh"kZd
¼iii½ lkfgR; dh leh{kk
¼iv½ MsVk ijh{k.k
¼v½ ifjp;
¼A½ ¼i½] ¼ii½] ¼iii½] ¼iv½] ¼v½
¼B½ ¼ii½] ¼v½] ¼iii½] ¼i½] ¼iv½
¼C½ ¼ii½] ¼iii½] ¼iv½] ¼v½] ¼i½
¼D½ ¼v½] ¼i½] ¼iii½] ¼iv½] ¼ii½

34- ,d 'kks/kdrkZ us ,d lewg esa pkj lIrkg rd e/kqesg ds
çcaèku ds fy, dqN nok,a nh vkSj jä 'kdZjk ds Lrj ds fy,
iwoZ vkSj ckn ds MsVk dks ekik A MsVk dk fo'ys"k.k djus ds
fy, fdl lkaf[;dh; midj.k dk mi;ksx fd;k tk,xk
¼A½ ;qfXer ^Vh* ijh{k.k
¼B½ Lora= ^Vh* ijh{k.k
¼C½ ,uksok ijh{kk
¼D½ dkbZ&LDok;j ijh{k.k

35- vuqla/kku 'kq: djus ds fy, fdlh dks ;g djuk gksxk
¼A½ dbZ Li"V y{.kksa ds lkFk 'kq#vkr djsa
¼B½ dbZ iwoZfu/kkZfjr mís';ksa ds lkFk 'kq#vkr djsa
¼C½ ,d vPNh rjg ls ifjHkkf"kr 'kks/k i)fr gksuh pkfg,
¼D½ 'kks/k leL;k dk lek/kku djsaA
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36. What was the real name of the ruler of Kashmir
Jain-ul-Abidin?
(A) Alishah
(B) Hasanshah
(C) Haidershah
(D) Shahikhan 

37. Who was leading RanaPratap’s army during the
battle of Haldighati?
(A) Ibrahim khan
(B) Hakim khan
(C) Tardibeg
(D) Muhammad lodi.

38. Last expedition of Shershah was against which
state?
(A) Kalanjar
(B) Malwa
(C) Kannauj
(D) Gaur 

39. Consider the following events and arrange them
in chronological order :
1 Battle of Kannauj 
2 Battle of Chausa 
3 Battle of Talikota
4 Battle of Khanwa
Select the correct answer with the help of codes
given below :
(A) 1 2 3 4
(B) 4 2 1 3
(C) 4 2 3 1
(D) 4 1 2 3 

40. What was mother tongue of Great poet Kabir of
15th century?
(A) Bhojpuri
(B) Magahi
(C) Maithili
(D) Avadhi

36- d'ehj ds 'kkld tSu&my&vkfcnhu dk okLrfod uke
D;k Fkk\
(A) vyh'kkg
(B) glu'kkg
(C) gSnj'kkg
(D) 'kkgh[kku

37- gYnh?kkVh ds ;q) esa jk.kkçrki dh lsuk dk usr`Ro dkSu dj
jgk Fkk\
(A) bczkfge [kku
(B) gdhe [kku
(C) rkMhZcsx
(D) eqgEen yksnh

38- 'ksj'kkg lwjh dk vfUre vfHk;ku fdl jkT; ds fo#) Fkk\
(A) dkyatj
(B) ekyok
(C) dUukSt
(D) xkSM

39- fuEu ?kVukvksa ij fopkj dhft, vkSj bUgsa dky Øekuqlkj
O;ofLFkr dhft, %
1 dUukSt dk ;q)
2 pkSlk dk ;q)
3 rkyhdksVk dk ;q)
4 [kkuok dk ;q)
uhps fn, dwV dh enn ls lgh mÙkj pqfu, %
(A) 1 2 3 4
(B) 4 2 1 3
(C) 4 2 3 1
(D) 4 1 2 3

40- 15oha 'krkCnh ds egku dfo dchj dh ekr`Hkk"kk D;k Fkh\
(A) Hkkstiqjh
(B) exgh
(C) eSfFkyh
(D) voèkh

II – History (Medieval & Modern)
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41. Famous hymn “vaishnava jana to tene kahiye”

was composed by whom?

(A) Mahatma Gandhi

(B) Narsimehta

(C) Lakho

(D) Paramanand

42. The bitterest attack of Guru Nanak was on?

(A) Purdah system

(B) Child marriage

(C) Caste system

(D) Sati custom

43. The language patronised by the Delhi Sultanate

was :

(A) Hindi

(B) Turki

(C) Persian

(D) Arabic

44. Babar’s famous autobiography Tuzuk-e-Babari

was originally written in which language?

(A) Turki

(B) Arabic

(C) Persian

(D) Urdu

45. which sultan made calculation of unemployed

youths during his regime?

(A) Alauddin

(B) muhammad tughlaq

(C) firoj tughlaq

(D) Balban 

46. Which one of the following is not correctly

matched?

(A) Buland Darwaza – Fatehpur sikri

(B) Tin darwaza – Ahmedabad

(C) Dakhil Darwaza – Gaur

(D) Lal Darwaza – Pandua 

41- çfl) Hktu ÞoS".kks tu rks rsus dfg;sß dh jpuk fdlus
dh Fkh\
(A) egkRek xkaèkh
(B) ujlh esgrk
(C) yk[kks
(D) ijekuan

42- xq# ukud dk lcls rh[kk çgkj Fkk\
(A) inkZ çFkk ij
(B) cky fookg ij
(C) tkfr O;oLFkk ij
(D) lrh çFkk ij

43- fnYyh lYrur }kjk fdl Hkk"kk dks laj{k.k fn;k x;k\
(A) fgUnh
(B) rqdhZ
(C) Qkjlh
(D) vjch

44- ckcj dh çfl) vkRedFkk rqtqd&,&ckcjh ewyr% fdl
Hkk"kk esa fy[kh xbZ Fkh\
(A) rqdhZ
(B) vjch
(C) Qkjlh
(D) mnwZ

45- fdl lqYrku us vius jkT; esa csjkstxkj ;qokvksa dh x.kuk
djk;h Fkh\
(A) vykmíhu f[kyth
(B) eqgEen rqxyd
(C) fQjkst rqxyd
(D) cycu

46- fuEufyf[kr esa dkSu lk ,d ;qXe lqesfyr ugha gS\
(A) cqyan njoktk & Qrsgiqj fldjh
(B) rhu njoktk & vgenkckn
(C) nkf[ky njoktk & xkSM
(D) yky njoktk & ik.Mqvk
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47. Diwan-e-Amirkohi to improve cultivation was set

up by?

(A) Jalaluddin

(B) Alauddin

(C) Bin tughlaq

(D) Firoztughlaq 

48. During the rule of which sultan Ibn batuta came to

Delhi?

(A) Ghiyasuddin

(B) Bin tughlaq

(C) Firojtughlaq

(D) None of these

49. Sufi literature was also known by which another

name?

(A) Malfuz

(B) Juhud

(C) Riza

(D) Tawakul

50. When and by whom Vijaynagar empire was

founded?

(A) 1336 Harihar

(B) 1336 Bukka

(C) 1336 Harihar and Bukka both

(D) None of these

51. The mughal emperor who took deep interest in

painting was?

(A) Shahjahan

(B) Akbar

(C) Jahangir

(D) Aurangzeb

52. Which mughal emperor was called a ‘Jinda

Peer’?

(A) Akbar

(B) Jahangir

(C) Shahjahan

(D) Aurangzeb

47- Hkwfe lqèkkj ds fy, nhoku&,&vehjdksgh dh LFkkiuk fdl
lqYrku us dh Fkh\
(A) tykyqíhu
(B) vykmíhu
(C) fcu rqxyd
(D) fQjkst rqxyd

48- fnYyh ds fdl lqYrku ds le; bCu&crwrk fnYyh vk;s
Fks\
(A) X;klqíhu
(B) fcu rqxyd
(C) fQjkst rqxyd
(D) bues ls dksbZ ugha

49- lwQ+h lkfgR; dks fdl vU; uke ls Hkh tkuk tkrk Fkk\
(A) eyQ+wt+
(B) tqgqn
(C) fjtk
(D) rokdqy

50- fot; uxj jkT; dh LFkkiuk dc vkSj fdlus dh\
(A) 1336 gfjgj
(B) 1336 cqDdk
(C) 1336 gfjgj vkSj cqDdk nksuksa
(D) buesa ls dksbZ ugha

51- fp= dyk esa lcls xgjh #fp j[kus okyk eqxy ckn'kkg
dkSu Fkk\
(A) 'kkgtgka
(B) vdcj
(C) tgkaxhj
(D) vkSjaxtsc

52- fdl eqxy 'kkld dks ^ftank ihj* dgk tkrk Fkk\
(A) vdcj
(B) tgkaxhj
(C) 'kkgtgka
(D) vkSjaxtsc
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53. When shivaji met Afzalkhan last time?
(A) 1656
(B) 1657
(C) 1659
(D) 1668

54. Which district was known as ‘Shiraz-e-Hind’
during medieval era?
(A) Agra
(B) Prayag
(C) Lucknow
(D) Jaunpur 

55. Arrange the following European companies in
chronological order in which they came to India :
1 Portuguese
2 Dutch  
3 French  
4 English
(A) 1 2 3 4
(B) 4 2 1 3
(C) 4 2 3 1
(D) 1 2 4 3

56. Which leader of 1857 revolt was popularly known
as Danka Shah?
(A) Ahmad ullah
(B) Shah mal
(C) Liaqat
(D) Gonu

57. Who was chief of Rashtriya Swaymsevak Sangh
at the time of India’s Independence (in 1947)?
(A) Golwalkar
(B) Savarkar
(C) Hedgewar
(D) Deoras 

58. Who was the author of the book titled Social
Background of Indian Nationalism?
(A) A. R. Desai
(B) G. H. Sardesai
(C) R. S. Sharma
(D) Subhash Chandra Bose

53- f'kokth ls vQty [kku dh vfUre eqykdkr fdl o"kZ
gqbZ Fkh\
(A) 1656
(B) 1657
(C) 1659
(D) 1668

54- eè; dky esa fdl ftys dks ^f'kjkt&,&fgan* dgk tkrk
Fkk\
(A) vkxjk
(B) ç;kx
(C) y[kuÅ
(D) tkSuiqj

55- Hkkjr vkus okyh fuEu ;wjksih; daifu;ksa dks dkyØe ds
vuqlkj O;ofLFkr dhft, %
1 iqrZxkyh
2 Mp
3 Ýkalhlh
4 vaxzsth
(A) 1 2 3 4
(B) 4 2 1 3
(C) 4 2 3 1
(D) 1 2 4 3

56- 1857 ds foæksg ds usrkvksa esa dkSu Madk 'kkg ds uke ls
çfl) Fkk\
(A) vgen mYykg
(B) 'kkgey
(C) fy;kdr
(D) xksuw

57- Hkkjr dh Lora=rk ds le; ¼1947 esa½ jk"Vªh; Lo;alsod
la?k ds çeq[k dkSu Fks\
(A) xksyoYdj
(B) lkojdj
(C) gsMxsokj
(D) nsojl

58- Hkkjrh; jk"Vªokn dh lkekftd i`"BHkwfe uked iqLrd ds
ys[kd dkSu Fks\
(A) , vkj nslkbZ
(B) th ,p ljnslkbZ
(C) vkj ,l 'kekZ
(D) lqHkk"k paæ cksl



( 13 )

59. Match list 1 with list 2 and select the correct
answer with the help of codes given below :
List 1  List 2
Editor Newspaper 
a  Tilak   1  Bengali
b  Gokhale 2  Hindustani
c  Dada Bhai 3  Kesari
d  Surendranath 4  Sudharak 
Codes a b c   d
(A) 4  3 1 2
(B) 4  3 2   1
(C) 3 2 4   1
(D) 3 4 2 1

60. Who was governor at the time of Nandkumar
case?
(A) Dalhousie
(B) Bentinck
(C) Warren Hastings
(D) Cornwallis. 

61. When Sant Vinoba Bhave Leader of Bhudan
Movement was born?
(A) 11 September
(B) 14 November
(C) 2 October
(D) 26 April 

62. Who was founder of United India Patriotic
Association?
(A) Gandhi
(B) Iqbal
(C) Md. Ali
(D) Syed Ahmed 

63. When was Hindu Code Bill introduced in
constituent assembly?
(A) 1946
(B) 1947
(C) 1948
(D) 1949

59- lwph 1 dks lwph 2 ls lqesfyr dhft, rFkk fn;s x, dwV
dh enn ls lgh mÙkj pqfu, %
lwph 1 lwph 2
laiknd i=
a fryd 1 caxkyh
b xks[kys 2 fgUnqLrkuh
c nknk HkkbZ 3 dsljh
d lqjsUæ cuthZ 4 lqèkkjd
dwV a b c   d

(A) 4  3 1 2

(B) 4  3 2   1

(C) 3 2 4   1

(D) 3 4 2 1

60- uan dqekj dsl ds le; xouZj dkSu Fkk\
(A) MygkSth
(B) csfUVd
(C) okjsu gsfLaVXl
(D) dkuZokfyl

61- Hkwnku vkanksyu ds usrk lar fouksck Hkkos dk tUe dc gqvk
Fkk\
(A) 11 flracj
(B) 14 uoacj
(C) 2 vDVwcj
(D) 26 vçSy

62- ;wukbVsM bafM;k iSfVª;kfVd ,lksfl,'ku ds laLFkkid dkSu
Fks\
(A) xkaèkh
(B) bdcky
(C) eksgEen vyh
(D) lS;n vgen

63- fgUnw dksM fcy lafoèkku lHkk esa dc yk;k x;k Fkk\
(A) 1946
(B) 1947
(C) 1948
(D) 1949
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64. When India’s Government implemented the New
Education Policy 2020?
(A) 29 july 2020
(B) 20 august 2021
(C) 2 October 2023
(D) 24 January 2024

65. Who is chairman of university grant commission
at present?
(A) Professor D. P. Singh
(B) Professor Jagdish Kumar
(C) Professor Sukhdev
(D) Professor Gautam

66. Who propounded the theory of Historical
Materialism?
(A) Herodotus
(B) Rainer
(C) Karl Marx
(D) Car

67. In which country did the Annals school of
historiography emerged?
(A) France
(B) Italy
(C) Germany
(D) Spain 

68. “History is science neither more nor less” is said
by whom?
(A) E. H. Car
(B) J. B. Bury
(C) Vincent Smith
(D) Arthur Marwick 

69. Who was writer of the book ‘Wonder that was
India’?
(A) Ramdhari Singh Dinkar
(B) Nehru
(C) Basham
(D) Gandhi

70. Where is National Museum located?
(A) Calcutta
(B) Delhi
(C) Lucknow
(D) Bombay

64- u;h f'k{kk uhfr 2020 Hkkjr us dc ykxw dh\
(A) 29 tqykbZ 2020
(B) 20 vxLr 2021
(C) 2 vDVwcj 2023
(D) 24 tuojh 2024

65- orZeku le; esa fo'ofo|ky; vuqnku vk;ksx ds vè;{k
dkSu gSa\
(A) çksQslj Mh ih flag
(B) çksQslj txnh'k dqekj
(C) çksQslj lq[knso
(D) çksQslj xkSre

66- ^,sfrgkfld HkkSfrdokn* ds fl)kar dks fdlus çLrqr fd;k
Fkk\
(A) gsjksMksVl
(B) jSfu;j
(C) dkyZ ekDlZ
(D) dkj

67- fdl ns'k esa bfrgkl ys[ku dh *,uYl* 'kSyh dk mn~Hko
gqvk\
(A) Ýkal
(B) bVyh
(C) teZuh
(D) Lisu

68- Þbfrgkl ,d foKku gS u de u T;knkß fdlus dgk Fkk\
(A) bZ ,p dkj
(B) ts ch cjh
(C) foalsaV fLeFk
(D) vkWFkZj ekjfod

69- ^vn~Hkqr Hkkjr* uked iqLrd ds ys[kd dkSu Fks\
(A) jkeèkkjh flag fnudj
(B) usg:
(C) ck'ke
(D) xkaèkh

70- jk"Vªh; laxzgky; dgk¡ fLFkr gS\
(A) dydÙkk
(B) fnYyh
(C) y[kuÅ
(D) cacbZ
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